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funsZ’k %  
1. iz'ui= ik¡p bdkb;ksa esa foHkkftr gSA izR;sd bdkbZ esa vkUrfjd fodYi fn;k x;k gSA 

2. izR;sd bdkbZ ls ,d iz'u dk mÙkj nhft,A bl izdkj dqy ik¡p iz'uksa ds mÙkj nhft,A 

3. lHkh iz'uksa ds fy, leku vad fu;r gSaA 

4. tgk¡ vko’;drk gks ogk¡ mi;qDr MkVk ekuk tk ldrk gSA 

5. vuqokn esa folaxfr gksus ij vaxzsth Lo:i dks lgh ekuk tk;A 

6. iz'ui= esa ijh{kkFkhZ fu/kkZfjr LFkku ij viuk jksy uEcj vafdr djsaA 

Instructions :  

1. The Question Paper is divided in five units. Each unit carries an internal choice. 

2. Attempt one question from each unit. Thus attempt five questions in all. 

3. All questions carry equal marks. 

4. Assume suitable data wherever necessary. 

5. English version should be deemed to be correct in case of any anomaly in translation. 

6. Candidates should write his/her Roll number at the prescribed space on the question paper. 
 

 

 [Unit – I]  

 [bdkbZ – I]  

Q. 1 (a)  What is Microware Transmission? Write any two advantages and     

disadvantages of microwave transmission system. 
 

 ekbØksoso Vªkalfe'ku D;k gksrk gS \ bl flLVe ds dksbZ nks ykHk o nks gkfu;ka fyf[k,A  

(b)  Explain the difference between LAN, MAN and WAN with respect to their 

topology, transmission rate and error rates. 
 

  LAN, MAN ,oa WAN ds varjHksnksa dk VkWiksyksth] Vªkalfe'ku nj ,oa ,jj nj ds laca/k esa 

O;k[;k dhft,A 

 

 OR  

Q. 2 (a)  What is Networking Topology? Draw a hybrid topology having a star backbone 

with four ring network. 
 

 usVodZ VkWiksyksth D;k gksrh gS ? gkbMfczM VkWiksyksth ftldh LVkj cSdcksu esa pkj fjax 

usVodZ gksrs gS] dk fp= cukb;sA 
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(b)  What is fiber optics transmission technology ? Differentiate between fiber 

optics and twisted pair cable.  
 

 Qkbcj vkWifVDl Vªkalfe'ku rduhdh D;k gksrh gS ? Qkbcj vkWifVDl ,oa V~fofLVM is;j 

dscy esa varj Hksn dhft,A 

 

 [Unit – II]  

 [bdkbZ – II]  

Q. 3 (a)  Explain ALOHA and slotted ALOHA protocol. Compare the efficiency in each 

case. 
 

 ALOHA ,oa LykWfVM ALOHA izksVksdkWy dk o.kZu dhft, rFkk budh ,fQf'k,aslh dh 

rqyuk dhft,A 

 

(b) Suppose a group on N station share a 56 kbps pure ALOHA channel. Each 

station outputs 1000 bit frame on an average of once every 100 second, even if 

the previous one hat not yet been sent (e.g. the stations can buffer outgoing 

frames). What is the maximum value of N ? 

 

 eku fyft, fd N LVs'ku dk ,d lewg 56 kbps ij 'kq) ALOHA pSuy dk iz;ksx djrk 

gS rFkk ;fn fiNyk fcV Ýse ugha Hkh x;k gSa rks Hkh gj LVs'ku vkSlru gj ,d 100 lSadM esa 

1000 fcV Ýse fudkyrk gS rks N dk vf/kdre eku D;k gksxk \ 

 

 OR  

Q. 4 (a) Explain the functions performed by each layer in a ISO-OSI reference  model 

with the help of a neat diagram. 
 

 ISO-OSI jSQjsal ekWMy dk fp= cukdj bldh gj irZ ds dk;ksZ dk o.kZu dhfy, ?  

(b) Explain Bit map protocol with the help of a suitable example.  

 fcV eSi izksVksdkWy dk ,d mnkgj.k ds ek/;e ls o.kZu dhft,A  

 [Unit – III]  

 [bdkbZ – III]  

Q. 5 (a) What is meant by Congestion in Network ? Write the reasons of occurring 

congestion in network.  
 

 usVodZ datSLpu ls vkidk D;k vfHkizk; gS ? ;g fdu&fdu dkj.kksa ls gksrk gS ?  

(b) What are the roles of amplifier, repeater, bridges and routers in network 

communication? Identify the OSI layers in which they operates. 
 

 usVodZ lapkj esa ,EifyQk;j] fczftl ,oa jkmVjt dh D;k Hkwfedk gksrh gS ? ;s OSI dh 

fdl irZ esa dk;Z djrs gS? 

 

 (i) SHLD              (ii) LDAX  

 OR  

Q. 6 (a) Discuss advantages and disadvantages of flooding routing protocol.  

 QyfMax jkmfVax izksVksdkWy ds ykHk ,oa gkfu;ksa dh O;k[;k dhft,A  

(b) Compare Dijkstra and Bellman Ford algorithm for finding the shortest path.   

 y?kqre iFk irk djus ds fMtDlVªk rFkk cSyeSu QksMZ vyxksfjFket dh rqyuk dhft,A  

 [Unit – IV]  

 [bdkbZ – IV]  

Q. 7 (a) Why a fragmentation is needed in IP datagram ? How are fragmentation and 

reassembly implemented in IP? 
 

 IP MkVkxzke esa fo[kaMu dh vko';drk D;ksa gksrh gS fo[kaMu rFkk fjvlsEcyh dks IP esa fdl 

izdkj dk;kZfUor fd;k tkrk gS ? 
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(b) How the network congestion is controlled using slow star in TCP?  

 TCP esa /khesa vkjEHk ds iz;ksx ls uSVodZ datSD'ku dks fdl izdkj ls lapkfyr fd;k tkrk 

gSA 

 

 OR  

Q. 8 (a) Write short notes on following -  

 fuEufyf[kr ij laf{kIr fVIi.kh dhft, &  

 (i)   SMTP   (ii)  IPV6  

 (iii) Cipher   (iv)  Network security  

(b) Draw the TCP/IP network architecture. Explain the functionalities of various 

layers and also list its important protocols. 
 

 TCP/IP usVodZ lajpuk dk fp= cukb;s] bldh fofHkUu irksZ dh dk;kZRedrk dk o.kZu 

dhft, rFkk bldh egRoiw.kZ izksVksdkWy dks lwfpc) dhft,A  

 

 [Unit –V]  

 [bdkbZ –V]  

Q. 9 (a) How to you define channel capacity? How a channel capacity related to 

bandwidth? Write the mathematical relationship between them for noiseless 

channels. 

 

 fdlh pSuy dh {kerk dh O;k[;k fdl izdkj djrs gS pSuy dh {kerk cSaMfoMFk ls fdlh 

izdkj ls lacaf/kr gksrh gS fdlh uksbtySl pSuy ds fy, buds chp dk xf.kfr; laca/k 

fyf[k,A 

 

(b) What is Modulation? Explain the modulation techniques in detail.  

 ekWMwys'ku D;k gksrh gS \ ekWMwys'ku rduhdksa dh foLrkj ls tkudkjh nhft,A  

 OR  

Q. 10  Make a diagram (topology) of network existing in your college university 

computer centre showing the various nodes, and what they actually represent 

{Computer, hub, router, printer, switches} Also how this network is connected 

with another networks (LAN, WAN etc.) What is the internet bandwidth of the 

network? What network OS is used? Explain the OS in Detail. 

 

 vkids dkyst vFkok fo'ofo|ky; lsaVj esa tks uSVodZ dke dj jgk gSa mlds fofHkUu uksMt 

¼dEi;wVjt, gc, jkmVjt, fizaVjt, fLofpt) dks n'kkrs gq, Vkiksyksftdy fp= cukb;s rFkk 

;g Hkh fn[kkb, fd blds lkFk vkSj dkSu ls uSVodZ ¼LAN,WAN  bR;kfn) fdl izdkj tqMs 

gq, gS \ bl uSVodZ dh baVjusV cSMfoMFk D;k gSa\ blesa dkSu lk uSVodZ OS iz;ksx fd;k 

tkrk gSa \ bl OS dk foLrkjiwoZd o.kZu dhft,A 

 

 

__________ 
 


